H & 0l & AHS B Ml A

20258 =0ila LEHSIH MR

S NS D
=L RN ESVE-PIEIE

Ciol: MASE LetE (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIt 531,600 543,108 A11,508
= 24,272
== 11,290
Al 496,038
NSRSl = 506,700 517,308 10,608
= 24,272
< 11,290
Al 471,138
N==t8 =533 506,700 517,308 10,608
= 24,272
== 11,290
Al 471,138
UNEEH i =SS 188,288 196,906 A8,618
201 2= 166,348 173,292 A6,944
01 AtR2t2lt] 31,348 38,292 26,944
OLXIA £ & SSEHH| 15,900
-OXNA £ 758 %200, 0000 15,000
HEEH 900,0002 900
ONYHBEY S H2TH 72
150,000& 102 1,500
OXNgA E28 S+ MA
500,000& +82 4,000
OfIfs BarG 00,0002/ 592x23| 1,800
OXEH NELL DN LDIRIE EU
-8 300,000 = 16K 4,800
OMAXNLASH 2EHSADHNE ME
HE S 1,000,000 1,000
ORI SAYHT NRBAS IS
T2 3,300 *200& 660
OANld=E gtz 1,688
-SJI1E3J| 23,9003 40 122 1,148
g1 45,0002 x1CH= 123 540
2 35234l 135,000 135,000 0
OLIA & = &8 S R8RS
133,000,000 133,000
ONZ =AM R &R
2,000,000& 2,000
203 gF=4| 4,600 5,000 A400
03 A=A =] 4,600 5,000 2400
ONRo A=A R
4,600,000 4,600
301 EtE N = 10,000 10,000
14 DBt 2 a3 10,000 10,000
OXNZAH SeEM NE2d=s
50,0002 +200& 10,000




SN R
L RNE S EPIII

&Rl M==E2 ==5a3d= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
306 £= 6.601 6,712 AN
01 9= 6,601 6,712 A1
OXNZHMAAH EXHS 6.,601,000& 6,601
308 AXIHS0IA 739 752 A3
07 AXEH L FE=S 739 752 A13
OXZAH 2520l fF&=
739,000& 739
ANEME H23 2 117,598 74,695 42,903
201 2= 3,630 3,630 0
01 AtR2t2lt] 3,630 3,630 0
OMgd2Se2ANAH SR+
302,500 122 3,630
308 AtXIEMSOIH 113,968 71,065 42,903
18 SIS0t HAS A 113,968 71,065 42,903
OXIZA BEAAE 22
113,968,000 113,968
Hel+=g &3 94,605 73,836 20,769
201 et 3| 24,000 25,819 1,819
01 At2t2l] 24,000 25,819 21,819
OAI2l==& XAl 144
76,0003 202} A 1,520
OHI+USBOIYS SerB2ty)
03 *28,00021 2,520
OMI2l=2MEX AI2EE 0I8E(HY)
2,640,000& 2,640
OFNILRRAIAALY 0B (L)
7,920,000 7,920
OUTAFOOIE 253 0I2E(HE)
2,200,000& 2,200
OM2+=g Isitg € S22
2,200,000& 2,200
ONe =+ &8t A&
5,000,000& 5,000
303 Z&a= 12,000 12,000
01 Za= 12,000 12,000
ONlI+ea % T43
3,000,000 x4= 7| 12,000
308 AFARIEHMSOIE 58,605 36,017 22,588
183 S| 2SO ZB XA AIE 58,605 36,017 22,588
OXMUN A+ EEAAE RRE24
58,605,000 58,605
IHE B SAIAY 48,544 50,992 A2,448
= 24,272
Al 24,272
201 er2&| 47,744 50,192 A2,448




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 23,872
Al 23,872
01 At2tltl 45,944 48,392 A2,448
OMEFeI2 AE44R
43,000,000& 43,000
= 21,500
Al 21,500
ORSUIIABAIAIAS 912 Basg
1,000,000& 1,000
= 500
Al 500
ONEFEIA AL &Pt+=SH|
1,944,000& 1,944
= 972
Al 972
02 S3=gHl 1,800 1,800 0
ONE=E JX=H 72+
1,800,000 1,800
= 900
Al 900
202 04l 800 800 0
- 400
Al 400
01 =LHOHI 800 800 0
OMNEFEIHA SEXA Ot
800,000 800
= 400
Al 400
NLA Mg x4 =2 46,375 47,397 1,022
201 Ler23 | 46,375 47,397 A1,022
01 At22t2lt] 43,915 44,437 A522
OXNNSAHAIAE ASE 15,601
NEZHEMNES 4,356,000& 4,3%
-SidEss= 8,800,000& 8,800
-NEoIe Y=gt 2,445,000 2,445
OB XLFAIAE AIZE
8,105,270 8,106
OMEDXAM & GRHHE EHE S|
1,000,0002 * 12& 12,000
ONMEXE =8 S 200,000 * 122 2,400
OXNSAt ot SX| AL RAEs
all 484,000 123 5,808
2 35234l 2,460 2,960 A500
OMgd+ge g 287 Al
1,500,000 1,500




2A:

B QTR
SRl NEE =5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMSAt g EX| 22| S
40,0003 +2CH+12& 960
CHHESY =25 XA 11,290 12,903 A1,613
= 11,290
201 er23| 9,290 10,903 21,613
= 9,290
01 At 22|l 9,290 10,903 21,613
ONg&s&s 2234 & MEX=24
1,290,000 1,290
< 1,290
Oty It Mg xE 23 M=hl
5,800,000& 5,800
< 5,800
OMgd+2s 82= MA
2,200,000& 2,200
== 2,200
202 048l 2,000 1,000 1,000
=S 2,000
01 SLHoIH 2,000 1,000 1,000
O=AMAM S 325 0]
2,000,000& 2,000
= 2,000
HH2SZHI(MR) 24,900 25,800 900
J1238I (NS 24,900 25,800 A900
J123HI(NS) 24,900 25,800 2800
201 fet= 3| 17,100 18,000 A900
01 AtR2tc|HI 17,100 18,000 A900
FASS ARl 17,100,000& 17,100
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
OJ=2dR48011(28¢)
3,000,000& 3,000
203 HR=H| 4,800 4,800
MU FAZSLRFAI 4,800 4,800
ORAN2ELRFXIHI(302!015H)
400,000 12& 4,800




